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QUESTION 1

In which VMware NSX use case would VXLAN NOT be required? 

A. L2 Bridging physical to virtual 

B. NSX micro-segmentation 

C. Active/Active Datacenter 

D. Distributed Logical Routing 

Correct Answer: B 

 

QUESTION 2

Which tool is used to display VXLAN connection information? 

A. pktcap-uw 

B. NSX Controller CLI 

C. esxtop 

D. VDS Health Check 

Correct Answer: B 

 

QUESTION 3

A customer has Cisco Nexus 1000V switches in their environment and is looking at deploying NSX. Which statement is
correct? 

A. The environment must be migrated from the Nexus 1000V to vSphere Distributed Switches. 

B. The environment must be configured for VXLAN over the Nexus 1000V. 

C. The environment can use the Nexus 1000V switches for the NSX deployment. 

D. The environment must be migrated from the Nexus 1000V to vSphere Standard Switches. 

Correct Answer: A 

 

QUESTION 4

Which three statements are valid methods of Link Aggregation Control Protocol negotiation? (Choose three.) 

A. Switches activate one of the blocked paths and negotiate the forwarding path upon failure. 
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B. Every other switch on the LAN negotiates only one data path back to the root bridge. 

C. Switches wait until they receive an aggregation request, negotiate the status of the links, and proceed. 

D. One switch sends repeated requests to the other switch that is requesting the port aggregation status. The two
switches negotiate the status of the links and proceed. 

E. Switches with links enabled for port aggregation do the port aggregation themselves and must be manually
configured to be compatible at each end of that link. 

Correct Answer: CDE 

 

QUESTION 5

Which two functions are provided by VMkernel ports? (Choose two.) 

A. VXLAN Port Configuration 

B. vSphere vMotion 

C. ESXi Host Management 

D. 802.1Q VLAN tagging 

Correct Answer: BC 
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